£ R X 3z >\ 4
1128 £ F > ]32]7}%% 5 ?: A ]
R1 TR 1 2 3 4 5 6 7 8 9 10 11 12 13 14
COP | s=a %=
3 § 34 B (| BEEx || SRR i3 EREY || BRAL FERHT B KNU JER BEZ% R JBH Cyclops
10.00
1 AAHE 10.00 6
26:26
10.00
o - Q 1000 | 6
26:26
5.32
3 HERD 5.32 11
7:20
14.68
4 Uns 14.68 4
20:7
3.77
5 sESEE 3.77 12
6:25
16.23
6 BEALE 16.23 3
25:6
10.00
7 FEWIFT 10.00 6
8:8
10.00
8 IR e 10.00 6
8:8
1.79
9 KNU 1.79 14
10:39
18.21
10 KR 18.21 1
39:10
17.50
11 BREZZR 17.50 2
27:2
2.50
12 BER 250 | 13
2:27
11.67
25:21
| 833
14 Cyclops 8.33 10
21:25




